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2 % Density 2.655 g/a 2AAF P.I NP A sk4] 0.M.C 9.1 (%)
MAgeA  Liquid Limit NP (%) =2=AA=4(BR)  30.0 (%) AN ANHEH]S) T (%)
2R Plastic Limit NP (%) JURAERE 9011 g/ AAESM 1.4 (%)
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A7V e E3%
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A @ W W KS F 2308:2006 A A 93
1. HF89 AR
= ] il ke 1 2 121 I
HoF= # 9 3 342 343
H T S Wf (g) 49.140 49.533
HSH + /7T <% Wai (g) 148.26|  148.642
Waie Ete W =& Ti(TC) 25.1 25.1
g*z: %Eg; :j ﬂ gi Zj:z: @ 0.999840|  0.999840
Wai - Wf (g) ® 99.120 99.109
oTolo] o S =
%‘%;jﬂ %J‘;];zng ﬂi@@ ji@*ulE;]Jf“EA 148.244|  148.626
2.8 = A ¥
HITH + =FAIR + 29 T Wb(g)| 161.227 161.648
\Ei %Xé%‘((rﬁ;ﬂ JAwrEHe WEE9 95 7 95 7
=% AR T o (g) 20.786 20.851
()3 el el "o
WE(TC / T0) 2.664 2.663
o + (Wax - Wb)
2Zo g &9 Wx(g/em) 0.99686|  0.99686
% 9 ¥ =(g/a) 2.655 2.655
3 4 # 2.655|(g/crt)
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AR IS % \
Al & w9 KS F 2312:2001:E Al E A )g;,,ié
= AN 8 B 37 2206.55 o AT 5967.1 g
8 2206.55 cf 5967.1 g
o T 1 2.655
(N FZ+E=)FA(g) 1 | 10580.5 ! 2 | 10753.5 ! 3 | 10842.7
I I
oA 27 (g) 4613.4 i 4786.4 i 4875.6
Aoy t(g/ar) 2.091 i 2.169 i 2.210
WWw: | 1333.5(DW: [Ww 1408.1|DW: [ 1268.6|DW:
DV: | 1265.5|TW: | 176.4|DW: | 1318.5|TW: | 206.4)DV: 1165.2|TW: | 169.8
W 68.0 Ws: 1089, 1;i: 89.6 Ws: 1112, 1,1v: 103.4Ws:  995.4
W: 6.2 W: 8.1 W: 104
Faow = A | |
WW: | 1448.2[DV: lnw: | 1326.5|Dir: lpw: | 1328.6/DW:
DV: | 1374.2|Tw: | 186.9|DW: | 1243.1|TW: | 205.1|DW: 1224.2|TW: | 179.0
Wi 74 Vst 1187.3)lw: 83.4 Ws: 1038l 104.4 Ws:  1045.2
W: 6.2! W: 8.0! W: 10.0!
I I
Bt gl Wi%) 6.2 | 8.1 | 10.2
Az Yd(g/ar) 1.969 i 2.007 i 2.005
D &7 = | |
A %W e g/ s B L s _
(N 242 =) (g) 4 10794.1[ L5 ] 10702.3 L6 —[ 10643. 7|
A2 =27 A1(g) 4827.0 i 4735.2 i 4676.6
Ao T Y t(g/ar) 2.183 | 2.146 | 2.119
WW: | 1309.5[DW: iw: | 1486.3|Dir: lpw: | 1423.6/DW:
DV: | 1189.7|Tw: | 180.0/DW: | 1328.3|TW: | 172.5/DW: 1258.4|TW: | 176.4
Ww:  119.8Ws:  1009.7Ww: 158 Wis:  1155.8,lw: 165.2 st 1082.0
W: 11.9; W: 13.7; W: 15.3!
g & ou = A : -
e [ 1451.0[pw: Ly 1396/ DV: byw: [ 1421.6]pW:
DI |_1318.3|TW: | 174.9IDW: | 1252.2 TV: | 197.4IDi: 1257.4|TW: | 178.6
Ww:  132.7 Ws:  1143.4[Ww: 143.8 Ws: 1054, 8|Ww: 164.2 Ws:  1078.8
: 11.6y I: 13.6y W: 15.2
3 3t 3EE] W(%) 11.8 i 13.7 i 15.3
Az % vd(g/an) 1.957 | 1.887 | 1.838
271 =
A 2.022 1.947 1.888
B I
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EEEEEEE
AR E R EEEMSD) N8 A 3EE
vl ol &k
T8 *%é;;’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
fig 5 0 24.0 54.0 or.o] 126.0| 161.0| 193.0 251.0 304.0| 418.0| 516.0
=] == ]_
10 |SrEEE g 1.2 2.8 4.6 6.4 8.2 9.8 12.8 15.5 91.3 9.3
(kg f/
=] == ]_1:
?ﬁ;;if) 0 0.120 0.270]  0.454] 0.629] 0.804] 0.964] 1.253] 1.518| 2.087| 2.577
ELQ 2 0 44.0 oa.0| 152.0 220.0 288.0 361.0 504.0 651.0 934.0| 1102.0
=] == ]_
95 |SrEEEl 2.9 4.8 7.7 11.2 14.7 18.4 95.7 33.9 47.6 56.2
(kg f/
=] == ]—I:
?Mﬁjﬁ{? 0 0.2201  0.460| 0.750|  1.000] 1.438] 1.803| 2.517 3.251] 4.664]  5.503
ELQ 2 0 38.0 95.00 169.0] 255.0| 353.0| 457.0| 671.0| 898.0| 1347.0| 1675.0
=] == ]—I:
55 O(ELZ}j— 0 1.9 4.8 8.6 13.0 18.0 93.3 34.9 45.8 68.6 85.4
=
s 0 0.190| 0.474| 0.844| 1.273] 1.763| 2.282| 3.351| 4.484| 6.726|  8.364
17 3 (2.5m) g'g <100 = 11.7% 5. Omm ﬁ&?s <100 = 14.7%
42 3 (2.5m) é'g <100 = 20.8% 5. Omm f%zé <100 =  31.6%
92 3 (2.5m) é'g <100 = 25.5% 5. Omm ;ﬁj?; <100 =  43.5%
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£o AT AIE(2.0mH SHE 24)

ANEHS  E219 Jl= AL \
A& 2 TE:2014.6.27 Mexn: 923
(ZINAZAS+EI1)2AH 692.43 g £ost=dl(w) : 11.4%
|2 : 577.00 g o9 (Gs) : 2.655
SIAZAZFA W, : 115.43 ¢ 28X (PI) - N.P AR 0 AMUES
AXZAMES2AH : Ws=100Ws /(1004+w) : 115.30 ¢
P2.0(dZE2.0mmollAS JIEENE: 72.3%
1. ZIAXZAIZRO & 4:H SH(XSHEZH|)
NO @ 1 NO : 2 NO : 3
WW = 1283.7 WW = 1270.4 W =
DW = 1173.9  Tw = 209.2 oW = 1161.3 Tw = 206.4 oW = Tw =
Ww = 109.8 Ws = 964.7 Ww = 109.1 Ws = 954.9 Ww = Ws =
= 11.4% = 11.4% W=
= gl 11.4%
2. HISH A8
— Z A2 HEANS ENEENEEE] o o . o] 2E0
SENY) i) [Z22E [ ¢ [sezoim] U1 | VUt | JGm)/aGsmw [EHoezomm] —oNTE [EEATE T PHESEE) oh
8:41 1 0.0150f 0.0150 140.4 140.4 11.8477 0.0040 0.0475 25 0.0020f 0.0170 23.6% 12.0%
8:42 2 0.0130] 0.0130 144.2 72.1 8.4922 0.0040 0.0340 25 0.0020[ 0.0150 20.8%| 10.6%
8:45 5 0.0120f 0.0120 146.2 29.2 5.4068 0.0040 0.0217 25 0.0020f 0.0140 19.4% 10.0%
8:55 15 0.0105] 0.0105 149.1 9.9 3.1525 0.0040 0.0126 25 0.0020] 0.0125 17.4% 9.0%
9:10 30 0.0100f 0.0100 150.0 5.0 2.2364 0.0040 0.0090 25 0.0020f 0.0120 16.7% 3.6%
9:40 60 0.0090] 0.0090 152.0 2.5 1.5915 0.0040 0.0064 25 0.0020[ 0.0110 15.3% 8.0%
12:40 240 0.0080f 0.0080 153.9 0.6 0.8008 0.0040 0.0032 25 0.0020f 0.0100 13.9% 7.3%
8:40 1440 0.0075] 0.0075 154.9 0.1 0.3280 0.0040 0.0013 25 0.0020] 0.0095 13.2% 6.9%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1ml & AZAIZ2 2:2H 2o TOA =241.0507HXI 2 2 0l (mm) 10.87
b : X 2229 20l(mm) 136.84
1/(Ws/V)= 8.67 cm/g Gs/(Gs-0.99678)*rw 1.601  g/cm Vo : BE 229 21(er) 57.50
A HAASIGS SHHE (o) 58.84
3. MO8
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 437 .4 453.4 16.00 13.9% 13.9% 86. 1% 62.3%
0.425mm(NO.40) 2 372.9 401.9 29.00 25.2% 39.0% 61.0% 44 . 1%
0.25mm(N0.60) 3 385.0 402.2 17.20 14.9% 53.9% 46.1% 33.3%
0.106mm(NO. 140) 4 345.7 369.5 23.80 20.6% 74.6% 25.4% 18.4%
0.075mm(NO.200) 5 349.2 354.2 5.00 4.3% 78.9% 21.1% 15.2%




EUTAE(HEL AIE)
ANEHS £219 gm0
_ o
ABUT : 2014.6.27 R
] NO.10KIOI 4S ASE 22 A1
HMAAZO BIHED
HHAZe S| W) CHEAZI A (W)
NE
=1 (HAZIHEA 242 3764.5 g oSN | 1.486.2 g
27129 7457 g 27129 745.4 g
HAAZO BI2HESH (W) 3018.8 g W 7408 g
1. 2mmXl SUAI=9 &=H =3
NO 1 NO 2 NO
o 778.3 o 782.9 o
Dw 709.9 Tw 179.8 Dw 715.8 Tw 197 .4 Dw Tw
W 68.4 s 530. 1 W 67.1  Ws 518.4 W Ws
W= 12.9% W= 12.9% W
BREAH 12.0%
2. MHAZAIZSH W) = W/ (14w) 2673.3
3. 2mi EBHEASSHMW)= W2=0-W1 1932.5 g
4. P2.0(LZ2.0mU NS IHEDHS)- W2/ WO 70.3%
5. om0l e AZe MM
I &g 1 2 1 2=1/10
75.0m| 1 437.10 437.10 | 0.00| 0.0% | 0.0% | 100.0%
53.0m| 2 461.90 461.9 |  0.00| 0.0% | 0.0% | 100.0%
37.5m| 3 471.60 47160 | 0.00| 0.0% | 0.0% | 100.0%
26.5m| 4 469.50 541.10 | 7160 | 2.7% | 2.7% | 97.3%
19.0m| 5 456.80 486.70 | 2990 | 1.1% | 3.8% | 96.2%
95m | 6 489.70 600.10 | 110.40 | 4.1% | 7.9% | 92.1%
4.75m| 7 524.00 643.10 | 119.10 | 4.5% | 12.4% | 87.6%
oom | 8 431.10 840.90 | 400.80 | 15.3% | 27.7% | 72.3%
« AXA S 740.80 g
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S| FAH+0IEZ A
2 o 2 7 0 0 0
2 7] 2 A
o 2 Al 2 2 A 0 0 0
s &= H| #DIV/0! #DIV/0! #DIV/0! (A= ME oHE
oHA—I%I_ﬁI
NEEE 1 2 3 4 5
S 3t 3 $
27 H 5
I8 + H255FA
27|27 + of2E 2
2 o 2 7 0 0 0 0 0
2 7] 2 A
of 2 Al 2 2 7 0 0 0 0 0
5t = H|(%) #DIV/0! #DIV/0! #DIV/0! |A| R A8 obEl
oH A4 5
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ot
110
ar
0
1.0 10.0 100.0
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